Using Toolbox Path Cache.  Type "help toolbox_path_cache" for more info.

  To get started, select "MATLAB Help" from the Help menu.

>> x = [1 2 3 4 1 2 3 4 1 2 3 4];

>> y = [1 5 10];

>> x(y)

ans =

     1     1     2

>> cd ..

>> cd ..

>> cd mike

>> cd 'gait analysis'

>> ls

.                center.m         mhrstep.fig      stepphase.m      stepplot.m       

..               cutdata.m        mhrstep4.fig     stepping.asv     vertcgstepmhr.m  

anova.asv        dataclean.m      plot3dof.m       stepping.m       vertcgsteprmh.m  

anova.m          datav.m          readdof.m        steppingmhr.asv  

antcgsteprmh.m   loadstep.m       rmh              steppingmhr.m    

bttest.m         mfilter.m        rmhstep.fig      steppingrmh.m    

center.asv       mhr              stepphase.asv    stepplot.asv     

>> help stepphase

  loads data, plots non-centered and centered phase plots

  function [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase(initials, pathname);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

??? Subscript indices must either be real positive integers or logicals.

Error in ==> F:\mike\gait analysis\center.m

On line 31  ==> highs = centered(crosshigh);

Error in ==> F:\mike\gait analysis\stepphase.m

On line 18  ==> [centeredfree, freelowsa, freehighs] = center(ffree);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

crosshigh =

  Columns 1 through 7 

           1           0           0           0           0           0           0

  Columns 8 through 14 

           0           0           0           0           0           0           0

  Columns 15 through 21 

           0           0           0         150         338         523         717

  Columns 22 through 28 

         895        1094        1276        1458        1654        1841        2021

  Columns 29 through 32 

        2229        2418        2614        2793

??? Subscript indices must either be real positive integers or logicals.

Error in ==> F:\mike\gait analysis\center.m

On line 31  ==> highs = centered(crosshigh);

Error in ==> F:\mike\gait analysis\stepphase.m

On line 18  ==> [centeredfree, freelowsa, freehighs] = center(ffree);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

crosshigh =

  Columns 1 through 7 

           1         150         338         523         717         895        1094

  Columns 8 through 14 

        1276        1458        1654        1841        2021        2229        2418

  Columns 15 through 16 

        2614        2793

??? Index exceeds matrix dimensions.

Error in ==> F:\mike\gait analysis\center.m

On line 33  ==> highs = centered(crosshigh);

Error in ==> F:\mike\gait analysis\stepphase.m

On line 18  ==> [centeredfree, freelowsa, freehighs] = center(ffree);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

ans =

        2710

crosshigh =

  Columns 1 through 7 

           1         150         338         523         717         895        1094

  Columns 8 through 14 

        1276        1458        1654        1841        2021        2229        2418

  Columns 15 through 16 

        2614        2793

??? Index exceeds matrix dimensions.

Error in ==> F:\mike\gait analysis\center.m

On line 35  ==> highs = centered(crosshigh);

Error in ==> F:\mike\gait analysis\stepphase.m

On line 18  ==> [centeredfree, freelowsa, freehighs] = center(ffree);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

??? Index exceeds matrix dimensions.

Error in ==> F:\mike\gait analysis\center.m

On line 33  ==> highs = centered(crosshigh(1:length(crosshigh)-1));

Error in ==> F:\mike\gait analysis\stepphase.m

On line 20  ==> [centeredfifteen, fifteenlowsa, fifteenhighs] = center(ffifteen);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

??? Index exceeds matrix dimensions.

Error in ==> F:\mike\gait analysis\center.m

On line 33  ==> highs = centered(crosshigh(1:(length(crosshigh)-1)));

Error in ==> F:\mike\gait analysis\stepphase.m

On line 20  ==> [centeredfifteen, fifteenlowsa, fifteenhighs] = center(ffifteen);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

ans =

        2710

??? Undefined function or variable 'highs'.

Error in ==> F:\mike\gait analysis\center.m

On line 34  ==> max(highs)

Error in ==> F:\mike\gait analysis\stepphase.m

On line 18  ==> [centeredfree, freelowsa, freehighs] = center(ffree);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

ans =

        2710

ans =

        2614

ans =

        2762

ans =

        2661

ans =

        2866

ans =

        2959

??? Index exceeds matrix dimensions.

Error in ==> F:\mike\gait analysis\center.m

On line 35  ==> highs = centered(crosshigh(1:(length(crosshigh)-1)));

Error in ==> F:\mike\gait analysis\stepphase.m

On line 20  ==> [centeredfifteen, fifteenlowsa, fifteenhighs] = center(ffifteen);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

crosshigh =

  Columns 1 through 7 

           1         150         338         523         717         895        1094

  Columns 8 through 14 

        1276        1458        1654        1841        2021        2229        2418

  Columns 15 through 16 

        2614        2793

ans =

        2710

??? Index exceeds matrix dimensions.

Error in ==> F:\mike\gait analysis\center.m

On line 36  ==> highs = centered(crosshigh);

Error in ==> F:\mike\gait analysis\stepphase.m

On line 18  ==> [centeredfree, freelowsa, freehighs] = center(ffree);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

crosshigh =

  Columns 1 through 7 

           1         150         338         523         717         895        1094

  Columns 8 through 14 

        1276        1458        1654        1841        2021        2229        2418

  Column 15 

        2614

ans =

        2710

crosshigh =

  Columns 1 through 7 

           1          22         211         394         584         768         961

  Columns 8 through 14 

        1164        1343        1523        1704        1899        2005        2088

  Columns 15 through 17 

        2278        2463        2661

ans =

        2762

crosshigh =

  Columns 1 through 7 

           1         134         211         314         499         686         883

  Columns 8 through 14 

        1081        1254        1451        1634        1731        1830        1918

  Columns 15 through 21 

        2001        2209        2294        2380        2583        2679        2769

  Column 22 

        2959

ans =

        2866

??? Index exceeds matrix dimensions.

Error in ==> F:\mike\gait analysis\center.m

On line 38  ==> highs = centered(crosshigh);

Error in ==> F:\mike\gait analysis\stepphase.m

On line 20  ==> [centeredfifteen, fifteenlowsa, fifteenhighs] = center(ffifteen);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

>> figure

>> plot(freelows, 'k*-')

>> hold on

>> plot(zerolows, 'b*-')

>> plot(fifteenlows, 'r*-')

>> plot(thirtylows, 'g*-')

>> figure

>> plot(freehighs, 'k*-')

>> hold on

>> plot(zerohighs, 'b*-')

>> plot(fifteenhighs, 'r*-')

>> plot(thirtyhighs, 'g*-')

>> grid

>> grid

>> zerohighs

zerohighs =

  Columns 1 through 8 

    6.4814    5.5764    6.3862    6.4778    6.2675    6.9429    6.3977    6.1683

  Columns 9 through 15 

    5.8194    7.3032    6.5027   -0.0022    5.9397    6.3746    6.7606

>> fifteenhighs

fifteenhighs =

  Columns 1 through 8 

    3.5926    0.0063    5.4439    6.4339    5.4044    5.3274    4.2718    5.5113

  Columns 9 through 16 

    4.3620    5.6243    0.0092    4.5390   -0.0001    4.9667    4.1656   -0.0017

  Columns 17 through 20 

    6.6567    5.0459   -0.0052    5.9157

>> thirtyhighs

thirtyhighs =

  Columns 1 through 8 

    4.8400    5.6149    4.9010    4.6399    3.4057    4.9874   -0.0020    5.0541

  Columns 9 through 16 

    4.7677    6.0331    3.3532    4.9918    0.0043    5.5234    4.5072   -0.0036

  Column 17 

    5.2436

>> figure

>> close all

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

>> close a

??? Error using ==> close

Specified window does not exist.

>> close all

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

>> figure

>> plot(freehighs, 'k*-')

>> hold on

>> plot(zerohighs, 'b*-')

>> plot(fifteenhighs, 'r*-')

>> plot(thirtyhighs, 'g*-')

>> grid

>> close

>> clsoe

??? Undefined function or variable 'clsoe'.

>> close

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

>> figure

>> plot(freehighs, 'k*-')

>> hold on

>> plot(zerohighs, 'b*-')

>> plot(fifteenhighs, 'r*-')

>> plot(thirtyhighs, 'g*-')

>> grid

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

??? Index exceeds matrix dimensions.

Error in ==> F:\mike\gait analysis\center.m

On line 35  ==> highs = centered(crosshigh);

Error in ==> F:\mike\gait analysis\stepphase.m

On line 20  ==> [centeredfifteen, fifteenlows, fifteenhighs] = center(ffifteen);

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

>> close all

>> help anova

  analysis of variance: ANOVA

  between four populations at the moment

  function F = anova(X1, X2, X3, X4)

>> Fl = anova(freelows, zerolows, fifteenlows, thirtylows)

Fl =

    0.5685

>> Fh = anova(freehighs, zerohighs, fifteenhighs, thirtyhighs)

Fh =

   15.2454

>> figure

>> plot(freehighs, 'k*-')

>> help anova

  analysis of variance: ANOVA

  between four populations at the moment

  function F = anova(X1, X2, X3, X4)

>> hold on

>> plot(zerohighs, 'b*-')

>> plot(fifteenhighs, 'r*-')

>> plot(thirtyhighs, 'g*-')

>> grid

>> grid

>> grid

>> Fl = anova(freelows, zerolows, fifteenlows, thirtylows)

dfw =

    54

dfb =

     3

Fl =

    0.5685

>> Fh = anova(freehighs, zerohighs, fifteenhighs, thirtyhighs)

dfw =

    53

dfb =

     3

Fh =

   15.2454

>> mean(freehighs)

ans =

    6.1976

>> mean(zerohighs)

ans =

    6.2175

>> mean(thirtyhighs)

ans =

    4.7840

>> mean(fifteenhighs)

ans =

    5.0357

>> mf = mean(freehighs)

mf =

    6.1976

>> mz = mean(zerohighs);

>> m15 = mean(fifteenhighs);

>> m30 = mean(thirtyhighs);

>> mf = mz

mf =

    6.2175

>> mf = mean(freehighs)

mf =

    6.1976

>> mf - mz

ans =

   -0.0199

>> mf - m15

ans =

    1.1619

>> mf - m30

ans =

    1.4136

>> mz - m15

ans =

    1.1818

>> mz - m30

ans =

    1.4335

>> m15 - m30

ans =

    0.2517

>> length(freehighs)

ans =

    13

>> length(zerohighs)

ans =

    14

>> length(fifteenhighs)

ans =

    15

>> length(thirtyhighs)

ans =

    15

>> [freelows, zerolows, fifteenlows, thirtylows, freehighs, zerohighs, fifteenhighs, thirtyhighs] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

>> Fh = anova(freehighs, zerohighs, fifteenhighs, thirtyhighs)

dfw =

    53

dfb =

     3

MSe =

    0.5340

Fh =

   15.2454

>> (mf - mz)^2/3/.5340/(1/13+1/14)

ans =

    0.0017

>> (mf - m15)^2/3/.5340/(1/13+1/15)

ans =

    5.8689

>> (mf - m30)^2/3/.5340/(1/13+1/15)

ans =

    8.6875

>> (mz - m15)^2/3/.5340/(1/14+1/15)

ans =

    6.3128

>> (mz - m30)^2/3/.5340/(1/14+1/15)

ans =

    9.2887

>> (m15 - m30)^2/3/.5340/(1/15+1/15)

ans =

    0.2967

>> Fh = anova(freehighs, zerohighs, fifteenhighs, thirtyhighs)

dfw =

    53

dfb =

     3

MSe =

    0.5340

Rsquared =

    0.4632

Fh =

   15.2454

>> help stepphase

  loads data, plots non-centered and centered phase plots

  function [Lf, Lz, L15, L30, Hf, Hz, H15, H30] = stepphase(initials, pathname);

>> [Lf, Lz, L15, L30, Hf, Hz, H15, H30] = stepphase('rmh', 'f:\mike\gait analysis\rmh');

>> Fhr = anova(Lf, Lz, L15, L30)

dfw =

    57

dfb =

     3

MSe =

    3.4131

Rsquared =

    0.0181

Fhr =

    0.3510

>> Fhr = anova(Hf, Hz, H15, H30)

dfw =

    56

dfb =

     3

MSe =

    3.6445

Rsquared =

    0.1259

Fhr =

    2.6897

>> figure

>> plot(Hf, 'k*-')

>> hold on

>> plot(Hz, 'b*-')

>> plot(H15, 'r*-')

>> plot(H30, 'g*-')

>> grid

>> close all

>> [Lfm, Lzm, L15m, L30m, Hfm, Hzm, H15m, H30m] = stepphase('mhr', 'f:\mike\gait analysis\mhr');

>> [Lfr, Lzr, L15r, L30r, Hfr, Hzr, H15r, H30r] = stepphase('rmh', 'f:\mike\gait analysis\rmh');

>> H30m

H30m =

  Columns 1 through 8 

    4.7190    5.5458    4.7713    4.5488    3.2972    4.9185    4.9290    4.7153

  Columns 9 through 15 

    5.8631    3.2741    4.9225    5.4233    4.3921    5.1664    5.2732

>> L30m

L30m =

  Columns 1 through 8 

    1.1145   -0.7932    1.3612   -1.0202   -0.6250   -0.7314    0.8635   -0.8711

  Columns 9 through 15 

    2.1712   -3.5284    0.9554    0.1208   -0.0441    0.5594    1.5366

>> L30m=[L30m(1:9) L30m(11:15)]

L30m =

  Columns 1 through 8 

    1.1145   -0.7932    1.3612   -1.0202   -0.6250   -0.7314    0.8635   -0.8711

  Columns 9 through 14 

    2.1712    0.9554    0.1208   -0.0441    0.5594    1.5366

>> H30m

H30m =

  Columns 1 through 8 

    4.7190    5.5458    4.7713    4.5488    3.2972    4.9185    4.9290    4.7153

  Columns 9 through 15 

    5.8631    3.2741    4.9225    5.4233    4.3921    5.1664    5.2732

>> H30m=[H30m(1:9) H30m(11:15)]

H30m =

  Columns 1 through 8 

    4.7190    5.5458    4.7713    4.5488    3.2972    4.9185    4.9290    4.7153

  Columns 9 through 14 

    5.8631    4.9225    5.4233    4.3921    5.1664    5.2732

>> Fhm = anova(Hfm, Hzm, H15m, H30m)

dfw =

    52

dfb =

     3

MSe =

    0.4973

Rsquared =

    0.4564

Fhm =

   14.5520

>> Flm = anova(Lfm, Lzm, L15m, L30m)

dfw =

    53

dfb =

     3

MSe =

    1.6665

Rsquared =

    0.0685

Flm =

    1.2989

>> m30 = mean(H30m);

>> m30

m30 =

    4.8918

>> Lfr

Lfr =

  Columns 1 through 8 

    0.1257   -0.0004    2.9743   -2.8725   -2.6507    1.8285   -1.0359    3.7310

  Columns 9 through 16 

   -0.9675    0.0030    0.4461    1.8397   -1.0220   -1.0341   -3.2589    2.4780

  Columns 17 through 18 

    0.0987    2.9645

>> figure

>> plot(Lfr, 'k*-')

>> hold on

>> plot(Lzr, 'b*-')

>> plot(L15r, 'r*-')

>> plot(L30r, 'g*-')

>> grid

>> figure

>> plot(Hfr, 'k*-')

>> h

??? Undefined function or variable 'h'.

>> hold on

>> plot(Hzr, 'b*-')

>> plot(H15r, 'r*-')

>> plot(H30r, 'g*-')

>> grid

>> H15r

H15r =

  Columns 1 through 8 

    5.1204    1.9152    5.3888    5.1013    6.5364    5.1934    7.3211    4.8582

  Columns 9 through 14 

    0.0030    5.7459    4.1966    5.9147    5.7827    5.2875

>> L15r

L15r =

  Columns 1 through 8 

   -0.6357   -5.0203   -1.5622   -0.8753    2.1582   -0.7154    2.5774   -1.0556

  Columns 9 through 15 

    0.0048    0.3857   -1.6140   -0.0052   -0.0627    0.2482   -0.6945

>> L15r = [L15r(1) L15r(3:15)];

>> H15r = [H15r(1) H15r(3:14)];

>> Hfr

Hfr =

  Columns 1 through 8 

    3.9242    4.9048   -0.0014    6.6579    3.1443   -0.0051    5.7778    4.0170

  Columns 9 through 16 

    6.6154    3.2762    4.9005    4.0170    6.6899    3.9566    4.9322    0.5634

  Columns 17 through 18 

    3.1887    0.1183

>> Hfr = [Hfr(1:2) Hfr(4:5) Hfr(7:15) Hfr(17)];

>> Lfr

Lfr =

  Columns 1 through 8 

    0.1257   -0.0004    2.9743   -2.8725   -2.6507    1.8285   -1.0359    3.7310

  Columns 9 through 16 

   -0.9675    0.0030    0.4461    1.8397   -1.0220   -1.0341   -3.2589    2.4780

  Columns 17 through 18 

    0.0987    2.9645

>> Lfr = [Lfr(1:14) Lfr(16:18)];

>> Hfr

Hfr =

  Columns 1 through 8 

    3.9242    4.9048    6.6579    3.1443    5.7778    4.0170    6.6154    3.2762

  Columns 9 through 14 

    4.9005    4.0170    6.6899    3.9566    4.9322    3.1887

>> Lfr

Lfr =

  Columns 1 through 8 

    0.1257   -0.0004    2.9743   -2.8725   -2.6507    1.8285   -1.0359    3.7310

  Columns 9 through 16 

   -0.9675    0.0030    0.4461    1.8397   -1.0220   -1.0341    2.4780    0.0987

  Column 17 

    2.9645

>> Hzr

Hzr =

  Columns 1 through 8 

   -0.0009    6.4524    6.3469    4.3828    6.8549    4.2907    5.0499    8.9068

  Columns 9 through 14 

    6.4015    5.8417    7.3679    4.5034    4.1396    7.3912

>> Hzr = [Hzr(2:14:)];

??? Hzr = [Hzr(2:14:)];

                    |

Error: Expected a variable, function, or constant, found ")".

>> Hzr = [Hzr(2:14)];

>> H15r

H15r =

  Columns 1 through 8 

    5.1204    5.3888    5.1013    6.5364    5.1934    7.3211    4.8582    0.0030

  Columns 9 through 13 

    5.7459    4.1966    5.9147    5.7827    5.2875

>> H15r = [H15r(1:7) H15r(9:13)];

>> H30r

H30r =

  Columns 1 through 8 

    6.1553    2.8855    5.5276    4.4471    3.9161    5.4497    5.1668    4.6115

  Columns 9 through 14 

    4.9926    5.6503    5.2635    6.5029    4.9451    3.1528

>> 

>> Flr = anova(Lfr, Lzr, L15r, L30r)

dfw =

    55

dfb =

     3

MSe =

    2.9010

Rsquared =

    0.0217

Flr =

    0.4069

>> Fhr = anova(Hfr, Hzr, H15r, H30r)

dfw =

    49

dfb =

     3

MSe =

    1.3970

Rsquared =

    0.1685

Fhr =

    3.3094

>> mhfr = mean(Hfr)

mhfr =

    4.7145

>> mhzr = mean(Hzr)

mhzr =

    5.9946

>> mh15r = mean(H15r)

mh15r =

    5.5373

>> mh30r = mean(H30r)

mh30r =

    4.9048

>> mhfr - mhzr

ans =

   -1.2801

>> mhfr - mh15r

ans =

   -0.8228

>> mhfr - mh30r

ans =

   -0.1903

>> mhzr - mh15r

ans =

    0.4573

>> mhzr - mh30r

ans =

    1.0898

>> mh15r - mh30r

ans =

    0.6325

>> length(Hfr)

ans =

    14

>> length(Hzr)

ans =

    13

>> length(H15r)

ans =

    12

>> length(H30r)

ans =

    14

>> (mhfr - mhzr)^2/3/1.3970/(1/14 + 1/13)

ans =

    2.6357

>> (mhfr - mh15r)^2/3/1.3970/(1/14 + 1/12)

ans =

    1.0438

>> (mhfr - mh30r)^2/3/1.3970/(1/14 + 1/14)

ans =

    0.0605

>> (mhzr - mh15r)^2/3/1.3970/(1/13 + 1/12)

ans =

    0.3114

>> (mhzr - mh30r)^2/3/1.3970/(1/13 + 1/14)

ans =

    1.9103

>> (mh15r - mh30r)^2/3/1.3970/(1/12 + 1/14)

ans =

    0.6168

>> close

>> clsoe

??? Undefined function or variable 'clsoe'.

>> close

>> H30m,

H30m =

  Columns 1 through 8 

    4.7190    5.5458    4.7713    4.5488    3.2972    4.9185    4.9290    4.7153

  Columns 9 through 14 

    5.8631    4.9225    5.4233    4.3921    5.1664    5.2732

>> H30m = [H30m(1:4) H30m(6:14)];

>> Fhm = anova(Hfm, Hzm, H15m, H30m)

dfw =

    51

dfb =

     3

MSe =

    0.4533

Rsquared =

    0.4538

Fhm =

   14.1262

>> mh30m

??? Undefined function or variable 'mh30m'.

>> mh30m = mean(H30m)

mh30m =

    5.0145

>> [free, zero, fifteen, thirty] = loadfree('mhr', 'f:\mike\gait analysis\mhr');

??? Error using ==> horzcat

All matrices on a row in the bracketed expression must have the 

 same number of rows.

Error in ==> F:\mike\gait analysis\loadfree.m

On line 35  ==> thirty = [thirty1 thirty2 thirty3];

>> [free, zero, fifteen, thirty] = loadfree('mhr', 'f:\mike\gait analysis\mhr');

??? Error using ==> horzcat

All matrices on a row in the bracketed expression must have the 

 same number of rows.

Error in ==> F:\mike\gait analysis\loadfree.m

On line 35  ==> thirty = [thirty1 thirty2 thirty3];

>> [free, zero, fifteen, thirty] = loadfree('mhr', 'f:\mike\gait analysis\mhr');

??? Error using ==> horzcat

All matrices on a row in the bracketed expression must have the 

 same number of rows.

Error in ==> F:\mike\gait analysis\loadfree.m

On line 35  ==> thirty = [thirty1 thirty2 thirty3];

>> [free, zero, fifteen, thirty] = loadfree('mhr', 'f:\mike\gait analysis\mhr');

>> size(free)

ans =

        6080         120

>> figure

>> plot(free(:,120))

>> close

>> figure

>> cfree=cleandata(free);

??? Undefined function or variable 'cleandata'.

>> cfree=dataclean(free);

>> size(cfree)

ans =

        1379         120

>> plot(cfree(:,120))

>> plot(cfree(:,120), 'k.')

>> hold on

>> plot(cfree(:,120), 'k.')

>> figure

>> plot(free(:,120), 'k.')

>> close

>> czero=dataclean(zero);

>> cfifteen=dataclean(fifteen);

>> cthirty=dataclean(thirty);

>> hold on

>> plot(czero(:,120), 'b.')

>> plot(cfifteen(:,120), 'r.')

>> plot(cthirty(:,120), 'g.')

>> grid

>> figure

>> plot(cthirty(:,118), 'g.')

>> hold on

>> plot(cfifteen(:,118), 'r.')

>> plot(czero(:,118), 'b.')

>> plot(cfree(:,118), 'k.')

>> grid

>> [free, zero, fifteen, thirty] = load60('mhr', 'f:\mike\gait analysis\mhr');

>> cfree=dataclean(free);

>> czero=dataclean(zero);

>> cfifteen=dataclean(fifteen);

>> cthirty=dataclean(thirty);

>> figure

>> plot(cfree(:,120), 'k.')

>> hold on

>> plot(czero(:,120), 'b.')

>> plot(cfifteen(:,120), 'r.')

>> plot(cthirty(:,120), 'g.')

>> [free, zero, fifteen, thirty] = load60('rmh', 'f:\mike\gait analysis\rmh');

>> cfree=dataclean(free);

>> czero=dataclean(zero);

>> cfifteen=dataclean(fifteen);

>> cthirty=dataclean(thirty);

>> figure

>> plot(cfree(:,120), 'k.')

>> grid

>> hold on

>> plot(czero(:,120), 'b.')

>> plot(cfifteen(:,120), 'r.')

>> plot(cthirty(:,120), 'g.')

>> grid

>> close

>> figure

>> plot(Lfm, 'k*-')

>> close

>> figure

>> plot(Lfm, ones(length(Lfm)), 'k*-')

>> close

>> figure

>> plot(ones(length(Lfm)), Lfm,'k*-')

>> hold on 

>> close

>> figure

>> plot(ones(length(Lfm)), Lfm,'k.-')

>> hold on

>> plot(1, mean(Lfm), 'ko')

>> plot(1, mean(Lfm), 'k*')

>> plot(1, (mean(Lfm)+std(Lfm)), 'k+')

>> plot(1, (mean(Lfm)+std(Lfm)), 'ko')

>> plot(1, (mean(Lfm)+std(Lfm)), 'k*')

>> plot(1, (mean(Lfm)-std(Lfm)), 'k*')

>> plot(1, (mean(Lfm)-std(Lfm)), 'ko')

>> plot(ones(length(Lzm)), Lzm,'k.-')

>> plot(ones(length(Lzm))*2, Lzm,'k.-')

>> plot(ones(length(L15m))*3, L15m,'k.-')

>> plot(ones(length(L30m))*4, L30m,'k.-')

>> axis([0 5 -4 4])

>> help plot

 PLOT   Linear plot. 

    PLOT(X,Y) plots vector Y versus vector X. If X or Y is a matrix,

    then the vector is plotted versus the rows or columns of the matrix,

    whichever line up.  If X is a scalar and Y is a vector, length(Y)

    disconnected points are plotted.

    PLOT(Y) plots the columns of Y versus their index.

    If Y is complex, PLOT(Y) is equivalent to PLOT(real(Y),imag(Y)).

    In all other uses of PLOT, the imaginary part is ignored.

    Various line types, plot symbols and colors may be obtained with

    PLOT(X,Y,S) where S is a character string made from one element

    from any or all the following 3 columns:

           b     blue          .     point              -     solid

           g     green         o     circle             :     dotted

           r     red           x     x-mark             -.    dashdot 

           c     cyan          +     plus               --    dashed   

           m     magenta       *     star

           y     yellow        s     square

           k     black         d     diamond

                               v     triangle (down)

                               ^     triangle (up)

                               <     triangle (left)

                               >     triangle (right)

                               p     pentagram

                               h     hexagram

    For example, PLOT(X,Y,'c+:') plots a cyan dotted line with a plus 

    at each data point; PLOT(X,Y,'bd') plots blue diamond at each data 

    point but does not draw any line.

    PLOT(X1,Y1,S1,X2,Y2,S2,X3,Y3,S3,...) combines the plots defined by

    the (X,Y,S) triples, where the X's and Y's are vectors or matrices 

    and the S's are strings.  

    For example, PLOT(X,Y,'y-',X,Y,'go') plots the data twice, with a

    solid yellow line interpolating green circles at the data points.

    The PLOT command, if no color is specified, makes automatic use of

    the colors specified by the axes ColorOrder property.  The default

    ColorOrder is listed in the table above for color systems where the

    default is blue for one line, and for multiple lines, to cycle

    through the first six colors in the table.  For monochrome systems,

    PLOT cycles over the axes LineStyleOrder property.

    PLOT returns a column vector of handles to LINE objects, one

    handle per line. 

    The X,Y pairs, or X,Y,S triples, can be followed by 

    parameter/value pairs to specify additional properties 

    of the lines.

    See also SEMILOGX, SEMILOGY, LOGLOG, PLOTYY, GRID, CLF, CLC, TITLE,

    XLABEL, YLABEL, AXIS, AXES, HOLD, COLORDEF, LEGEND, SUBPLOT, STEM.

 Overloaded methods

    help cfit/plot.m

>> plot(2, mean(Lzm), 'ks')

>> plotdata(Lfm, Lzm, L15m, L30m)

>> axis([0 5 -4 4])

>> close

>> close

>> plotdata(Lfm, Lzm, L15m, L30m)

>> plotdata(Hfm, Hzm, H15m, H30m)

>> axis([0 5 3 8])

>> axis([.5 4.5 3 8])

>> plotdata(Lfr, Lzr, L15r, L30r)

>> plotdata(Hfr, Hzr, H15r, H30r)

>> axis([.5 4.5 2 9])

>> axis([.5 4.5 -4 4])

>> H15r

H15r =

  Columns 1 through 8 

    5.1204    5.3888    5.1013    6.5364    5.1934    7.3211    4.8582    5.7459

  Columns 9 through 12 

    4.1966    5.9147    5.7827    5.2875

>> L15r

L15r =

  Columns 1 through 8 

   -0.6357   -1.5622   -0.8753    2.1582   -0.7154    2.5774   -1.0556    0.0048

  Columns 9 through 14 

    0.3857   -1.6140   -0.0052   -0.0627    0.2482   -0.6945

>> H15r = [H15r(1:3) H15r(5) H15r(7:12)];

>> L15r = [L15r(1:3) L15r(5) L15r(7:12)];

>> H30r

H30r =

  Columns 1 through 8 

    6.1553    2.8855    5.5276    4.4471    3.9161    5.4497    5.1668    4.6115

  Columns 9 through 14 

    4.9926    5.6503    5.2635    6.5029    4.9451    3.1528

>> L30r

L30r =

  Columns 1 through 8 

    0.9449   -1.4995    0.0500   -2.8027    1.9170    1.3843   -0.2593   -1.4019

  Columns 9 through 13 

    0.5761   -0.5637    1.9661   -0.5927   -1.3397

>> L30r = [L30r(1:3) L30r(5:13)];

>> Hzr

Hzr =

  Columns 1 through 8 

    6.4524    6.3469    4.3828    6.8549    4.2907    5.0499    8.9068    6.4015

  Columns 9 through 13 

    5.8417    7.3679    4.5034    4.1396    7.3912

>> Lzr

Lzr =

  Columns 1 through 8 

    0.0025    1.6108    0.5519   -1.8412   -0.3536   -3.3767   -1.2479    3.6102

  Columns 9 through 15 

   -1.2046   -0.4419    1.1430   -0.0243   -3.6503    0.9544    2.0870

>> Hzr = [Hzr(1:7) Hzr(9:15)];

??? Index exceeds matrix dimensions.

>> Lzr = [Lzr(1:7) Lzr(9:15)];

>> Hzr = [Hzr(1:6) Hzr(8:13)];

>> plotdata(Hfr, Hzr, H15r, H30r)

>> plotdata(Lfr, Lzr, L15r, L30r)

>> axis([.5 4.5 -4 4])

>> axis([.5 4.5 2 8])

>> Fhr = anova(Hfr, Hzr, H15r, H30r)

dfw =

    46

dfb =

     3

MSe =

    1.1806

Rsquared =

    0.1275

Fhr =

    2.2401

>> Flr = anova(Lfr, Lzr, L15r, L30r)

dfw =

    49

dfb =

     3

MSe =

    2.4757

Rsquared =

    0.0677

Flr =

    1.1854

>> (mean(Hfr)-mean(Hzr))^2/1.1806/(1/length(Hfr) + 1/length(Hzr))

ans =

    5.8905

>> (mean(Hfr)-mean(H15r))^2/1.1806/(1/length(Hfr) + 1/length(H15r))

ans =

    1.4649

>> (mean(Hfr)-mean(H30r))^2/1.1806/(1/length(Hfr) + 1/length(H30r))

ans =

    0.2147

>> (mean(Hzr)-mean(H15r))^2/1.1806/(1/length(Hzr) + 1/length(H15r))

ans =

    1.1227

>> (mean(Hzr)-mean(H30r))^2/1.1806/(1/length(Hzr) + 1/length(H30r))

ans =

    3.9277

>> (mean(H15r)-mean(H30r))^2/1.1806/(1/length(H15r) + 1/length(H30r))

ans =

    0.6199

>> close

>>

